

ABSOLUTE TAUBERIAN CONSTANTS FOR LOWER TRIANGULAR MATRICES

F. AYDIN AKGUN AND B. E. RHOADES

ABSTRACT. In a recent paper [1] the authors obtained absolute Tauberian constants for the H-J generalized Hausdorff transformations, which generalized the corresponding results, obtained earlier by Sherif, for ordinary Hausdorff matrices. In this paper we obtain absolute Tauberian constants for regular lower triangular matrices with row sums one. As corollaries we obtain the corresponding results for factorable and weighted mean matrices.

1. INTRODUCTION

A principal contributor to the study of absolute Tauberian constants with respect to different summability methods has been Sherif, who began this work in the 1970's. She obtained Tauberian constants for a variety of methods including Cesaro [4], Hausdorff [5], and quasi-Hausdorff [2]. In a recent paper [1] the authors obtained absolute Tauberian constants for the H-J generalized Hausdorff transformations. In this paper absolute Tauberian constants are obtained for any regular lower triangular matrix with row sums one. We begin by defining terms and notation.

Let A be an infinite matrix, $\sum_{k=0}^{\infty} a_k$ an infinite series with partial sums s_n , and define $b_n = \sum_{k=0}^{\infty} a_{nk}a_k$. Sherif [5] established an inequality of the form

$$\sum_{n=0}^{\infty} |b_n - a_n| \leq K \sum_{n=0}^{\infty} |\Delta(na_n)|,$$

where K is an absolute Tauberian constant, A is a Hausdorff matrix satisfying certain properties, and Δ is the forward difference operator defined by $\Delta\mu_n = \mu_n - \mu_{n+1}$ for any sequence $\{\mu_n\}$.

In this paper we obtain the corresponding inequality when A is a regular lower triangular matrix with row sums one.

2010 *Mathematics Subject Classification.* Primary: 47H10.

Key words and phrases. Factorable matrices, Hausdorff matrices, Tauberian constants, weighted mean matrices.

A matrix $A = (a_{nk})$ is said to be regular if it is limit-preserving over c , the space of convergent sequences. Necessary and sufficient conditions for a matrix to be regular are the well-known Silverman-Töeplitz conditions:

- (i) $\|A\|_\infty := \sup_n \sum_{k=0}^\infty |a_{nk}| < \infty$,
- (ii) $\lim t_n = 1$, where $t_n := \sum_{k=0}^\infty a_{nk}$, and
- (iii) $\lim_n a_{nk} = 0$ for each k .

For any series $\sum_{k=0}^\infty a_k$, with partial sums s_n , A a regular lower triangular matrix with row sums one, define

$$u_n = \sum_{k=0}^n a_{nk} s_k.$$

For $n \geq 1$, since $a_{n-1,n} = 0$, we may write

$$\begin{aligned} b_n &:= u_n - u_{n-1} = \sum_{k=0}^n (a_{nk} - a_{n-1,k}) s_k \\ &= \sum_{k=0}^n (a_{nk} - a_{n-1,k}) \sum_{i=0}^k a_i = \sum_{i=0}^n a_i \sum_{k=i}^n (a_{nk} - a_{n-1,k}) \\ &= a_0 \sum_{k=0}^n (a_{nk} - a_{n-1,k}) + \sum_{i=1}^n a_i \sum_{k=i}^n (a_{nk} - a_{n-1,k}) \\ &= a_0(t_n - t_{n-1}) + \sum_{i=1}^n \left(-\frac{1}{i} \sum_{\nu=0}^{i-1} \Delta(\nu a_\nu) \right) \\ &\quad \left(t_n - \sum_{k=0}^{i-1} a_{nk} - t_{n-1} + \sum_{k=0}^{i-1} a_{n-1,k} \right). \end{aligned}$$

Since A has row sums one,

$$b_n = \sum_{\nu=0}^{n-1} \Delta(\nu a_\nu) \left[\sum_{i=\nu+1}^n \frac{1}{i} \sum_{k=0}^{i-1} (a_{nk} - a_{n-1,k}) \right]. \quad (1)$$

2. RESULTS

The following Lemma will be needed in the proof of Theorem 1.

Lemma 1. [[4], p. 235, Lemma 2.1] *Let $\{g_n\}$ be a sequence, A an infinite matrix with $A_n := \sum_{\nu=0}^\infty \alpha_{n\nu} g_\nu$. Suppose that*

$$\sum_{n=0}^\infty |\alpha_{n\nu}| \quad \text{is bounded.}$$

Define

$$K = \sup_{\nu} \sum_{n=0}^{\infty} |\alpha_{n\nu}|.$$

Then

$$\sum_{n=0}^{\infty} |A_n| \leq K \sum_{\nu=0}^{\infty} |g_{\nu}|, \quad (2)$$

and this constant is the best possible in the sense that (2) becomes false if K is replaced by any smaller constant.

Theorem 1. Let A be a regular lower triangular matrix with row sums one. If

$$K := \sup_{\nu \geq 0} \sum_{n=\nu+1}^{\infty} \left| \sum_{i=\nu+1}^n \frac{1}{i} \sum_{k=0}^{i-1} (a_{nk} - a_{n-1,k}) + \frac{1}{n} \right| < \infty, \quad (3)$$

then

$$\sum_{n=0}^{\infty} |b_n - a_n| \leq K \sum_{n=1}^{\infty} |\Delta(na_n)|.$$

Proof. Any sequence $\{a_n\}$ has the representation

$$a_n = \begin{cases} a_0, & n = 0, \\ -\frac{1}{n} \sum_{\nu=0}^{n-1} \Delta(\nu a_{\nu}), & n \geq 1. \end{cases}$$

Note that, since A has row sums one, $b_0 - a_0 = (t_0 - 1)a_0 = 0$, and, for $n > 0$, using (1),

$$b_n - a_n = \sum_{\nu=0}^{n-1} \Delta(\nu a_{\nu}) \left[\sum_{i=\nu+1}^n \frac{1}{i} \sum_{k=0}^{i-1} (a_{nk} - a_{n-1,k}) + \frac{1}{n} \right]. \quad (4)$$

Equation (4) represents a transformation of the type considered in Lemma 1; i.e., for $n \geq 1$,

$$\alpha_{n\nu} = \begin{cases} \sum_{i=\nu+1}^n \frac{1}{i} \sum_{k=0}^{i-1} (a_{nk} - a_{n-1,k}) + \frac{1}{n}, & 0 \leq \nu \leq n-1, \\ 0, & \nu \geq n. \end{cases}$$

From Lemma 1, K is as defined in (3), and the result follows. $\square$

Lower triangular matrices with row sums one enjoy a very interesting property, which will now be investigated.

Define

$$S_\nu = \sum_{n=\nu+1}^{\infty} \left[\sum_{i=\nu+1}^n \frac{1}{i} \sum_{k=0}^{i-1} (a_{nk} - a_{n-1,k}) + \frac{1}{n} \right].$$

Then, from (3),

$$\begin{aligned} S_{\nu-1} &= \sum_{n=\nu}^{\infty} \left[\sum_{i=\nu}^n \frac{1}{i} \sum_{k=0}^{i-1} (a_{nk} - a_{n-1,k}) + \frac{1}{n} \right] \\ &= \frac{1}{\nu} \sum_{k=0}^{\nu-1} (a_{\nu,k} - a_{\nu-1,k}) + \frac{1}{\nu} \\ &\quad + \sum_{n=\nu+1}^{\infty} \left[\frac{1}{\nu} \sum_{k=0}^{\nu-1} (a_{nk} - a_{n-1,k}) + \sum_{i=\nu+1}^n \frac{1}{i} \sum_{k=0}^{i-1} (a_{nk} - a_{n-1,k}) + \frac{1}{n} \right], \end{aligned}$$

Thus

$$\begin{aligned} S_\nu - S_{\nu-1} &= -\frac{1}{\nu} \sum_{k=0}^{\nu-1} (a_{\nu,k} - a_{\nu-1,k}) - \frac{1}{\nu} \\ &\quad - \frac{1}{\nu} \sum_{n=\nu+1}^{\infty} \sum_{k=0}^{\nu-1} (a_{nk} - a_{n-1,k}) \\ &= -\frac{1}{\nu} - \frac{1}{\nu} \sum_{k=0}^{\nu-1} (a_{\nu,k} - a_{\nu-1,k}) \\ &\quad - \frac{1}{\nu} \lim_{m \rightarrow \infty} \sum_{n=\nu+1}^m \sum_{k=0}^{\nu-1} (a_{nk} - a_{n-1,k}) \\ &= -\frac{1}{\nu} (1 + t_\nu - a_{\nu\nu} - t_{\nu-1}) \\ &\quad - \frac{1}{\nu} \lim_{m \rightarrow \infty} \sum_{k=0}^{\nu-1} \sum_{n=\nu+1}^m (a_{nk} - a_{n-1,k}) \\ &= \frac{a_{\nu\nu} - 1}{\nu} - \frac{1}{\nu} \lim_{m \rightarrow \infty} \sum_{k=0}^{\nu-1} (a_{mk} - a_{\nu,k}) \\ &= \frac{a_{\nu\nu} - 1}{\nu} - \frac{1}{\nu} (a_{\nu\nu} - 1) = 0. \end{aligned}$$

Consequently all of the values of S_ν are the same. This fact is illustrated in the proof of Theorem 2.1 of [5], where it is shown (formula (2.20) that

each

$$S_\nu = \int_0^1 \frac{|\chi(t)|}{t} dt,$$

which agrees with formula (2.20) of [5], provided that $\chi(t) \geq 0$, where χ is the mass function for the Hausdorff matrix. If the Hausdorff matrix is the Cesàro matrix of order α , for some $\alpha > 0$, then

$$\chi(t) = 1 - (1 - t)^\alpha,$$

and $\chi(t) \geq 0$.

If A is the Cesàro matrix of order one, then

$$S_0 = \lim_{m \rightarrow \infty} \left[\sum_{i=1}^m \frac{1}{i} \sum_{k=0}^{i-1} \frac{1}{m+1} \right] = \lim_{m \rightarrow \infty} \left[\frac{m}{m+1} \right] = 1,$$

If H is the Euler matrix of order a , then

$$\chi(t) = \begin{cases} 0, & 0 \leq t < a, \\ 1, & a \leq t \leq 1. \end{cases}$$

Therefore $S_\nu = \log(1/a)$ for each ν .

A weighted mean matrix is a lower triangular matrix, denoted by $(\overline{N}, p)$, with entries p_k/P_n , where $\{p_k\}$ is a nonnegative sequence with $p_o > 0$, and $P_n := \sum_{k=0}^n p_k$.

Corollary 1. *Let $(\overline{N}, p)$ be a regular weighted mean matrix. Then*

$$K = \lim_{m \rightarrow \infty} \sum_{i=1}^m \frac{P_{i-1}}{iP_m},$$

provided that

$$\frac{1}{n} - \frac{p_n}{P_n P_{n-1}} \sum_{i=\nu+1}^n \frac{P_{i-1}}{i} \geq 0.$$

Proof. Note that, from (3), since $a_{nk} = p_k/P_n$,

$$\begin{aligned} & \frac{1}{n} + \sum_{i=\nu+1}^n \frac{1}{i} \sum_{k=0}^{i-1} \left(\frac{p_k}{P_n} - \frac{p_k}{P_{n-1}} \right) \\ &= \frac{1}{n} - \frac{p_n}{P_n P_{n-1}} \sum_{i=\nu+1}^n \frac{P_{i-1}}{i} \end{aligned}$$

provided that $\chi(t) \geq 0$. □

Acknowledgment. The authors take this opportunity to thank the referee for the careful reading of the manuscript and for the helpful suggestions offered.

REFERENCES

- [1] F. Aydin Akgun and B. E. Rhoades, *Absolute Tauberian constants for $H - J$ Hausdorff matrices*, Appl. Math. Inform. Sci., 7 (4) (2013), 1405–1413.
- [2] Layla Awaad and Soroya Sherif, *Absolute Tauberian constants for quasi-Hausdorff transformations*, Indian J. Pure Appl. Math., 8 (3) (1977), 374–378.
- [3] I. J. Maddox, *Elements of Functional Analysis*, Cambridge University Press, 1970.
- [4] Soroya Sherif, *Absolute Tauberian constants for Cesàro means*, Trans. Amer. Math. Soc., 168 (1972), 23–241.
- [5] Soroya Sherif, *Absolute Tauberian constants for Hausdorff transformations*, Canadian J. Math., 26 (1) (1974), 19–26.

(Received: October 23, 2014)

(Revised: June 2, 2015)

F. Aydin Akgun
Department of Mathematical Engineering
Yildiz Technical University
34210 Esenler, Istanbul
Turkey
fakgun@yildiz.edu.tr

B. E. Rhoades
Department of Mathematics
Indiana University
Bloomington, IN 47405-7106
U.S.A.
rhoades@indiana.edu